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Identify the odd term regarding ores.

1. 99cTSe [Magnetite]  2.g9cISc [Haematite] 3. foAMTSE [Limonite] 4. 9TFATSE [Bauxite]
U.2  Tellerihl HIuR e Jrge 318 ?

Which of the following statement is correct ?

1. ;aﬁwwﬁ PRI PIEHC . [Toothpaste contain calcium carbonate.]
2. BT AT SN RATST IR, [Hard soaps used for bathing.]
3.9 N0 BHIS guamro"r dTURdId. [Soft soaps used for cleaning clothes.]
4. 3R 4 [All of these]
.3 ghrl SISl el

Find incorrect pair.

1.7 — Ag [Silver-Ag] 2.9~ Au [Gold-Au]

3. gRIGISH — He [Hydrogen - He | 4. |f$3M - Na[Sodium-Na]
U.4  Wlelledeh! gihd arad T,

Which of the following statementis incorrect.

1. 3R T UTIRIGA 31T2. [Arsenic is Metalloid .]

2.9 g YT 3. [Gold is Metal.]

3. FANM g T gefad.[ Chlorineis ductile.]

4.9 ﬁl@aﬁiﬁ 3. [Cropperis an electrical conductor.]
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.13

.14

HHfcren geerRigHa dTTesT 9Teg 3o,
Find odd man out with respectto physical change.

1.9he [Boiling] 2. T [Melting] 3. STSf9a [Evaporation] 4. &GS TiST0 [Rusting of iron]
diTedT eg JH[dWT.Find an odd man out.

I.Wﬁ?ﬂ[Salivary gland] RCERINEY [Oesophagus]

3. W1gfUs [Pancreas] 4.7 [Liver]

IfeEd TR ———————- SR,

Involuntary muscles are involved in ----------- .

1.5T0R [Stomach] 2. 371aS [Intestine] 3. %S [Heart] 4. T 4 [All of the above]
bl SAIS! 3TleT.

Ide_ntify incorrect pair.
1.%5® — Ge Uea [Nucleus - Double membrane]

2. gt eft — 9efifRyeeT [Plant cell - cell wall]
3. AIPI0TPT — Iolidg, [Mitochondria - powerhouse of cell]

4. RfchapT — UPIRIIATT [Vacuoles - Photosynthesis]

fopuae whrar ———————— e 3

Fermentation processis involved in ---------------- .

1. T8 §99a™T [Yoghurt Making] 2.3l g9aamT [Idli Making]
3. 91d §9ad™T [Making the bread] 4. 34T 94 [All of the above]
YU FTTER STYUT B PRI 2

Whatwill you do during earthquake?
1. SR MTSHEY AT IR ST AgdTet. [If in vehicle, stop the vehicle.]

2. SR AR Wﬂ'\’%ﬂﬂ?ﬂ%@% [If outside, stay away from buildings.]
3. SR 31T 3Tl TR CHeTRaTe! oY SUMR. [Ifinside, Hide below the table.]
4.3 94 [All of the above]

RgTeATeAidh! PV IR A 3T ?

Which of the following statement is correct ?
A. IS i lepos I 1135 b ATgl. [Heat cannot transfer through vacuum. ]

B. WWW T "thed died. [When Solid heated itincrease it's volume.]
1.%h A [OnlyA] 2.%h B [Only B] 3.A 3T BEelgl [BothA&B] 4. JTdeh! ATE! [ None of the above]

Convection of heat takes place through --------- substance
1. %I [Solid] 2.5 [Liquid] 3.9 [Gas] 4. fate Miapedt [Vacuum]
GTeiieTdeh! PV I SRIER 3R, ?

Which of the following statementis correct ?

A. T ISR ST HiS! TR HrdedT HielaR YTTHR Il

A. Afterrubbing glass rod on silk glass rod acquires positive charge.

B. I T foaRed =T ST SROTTHRI 8.

B. After combing hair, comb gets negative charge.

1.%h A [OnlyA] 2.%th B [OnlyB] 3.AS3TOT BEIFalg! [BothA&B] 4. JTdeh! ATEY [None of the abovel]
WlefletdehT prora WW‘T?\I 311%? Which of the following is unit of work?

1.5gcT [Joule] 2. Hex [Newton metre] 3. ~gc-[Newton] 49917 1 9 2 SgIEL.[Option1 & 2 Both]
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9.20

9.21

9.22

10m. >
30m.
et Mt A G B Al 3R ST fveTom Srgehi-———, - — —— 3TTR.
In the above diagram distance and displacement from Ato B is respectively ------- === :
1.30m.,10 m. 2.10m.,30 m. 3.10m.,10m. 4.30m.,30m.
RGTeiTettdh! PIuT aTa aRIsR 3MTR ?

Which of the following statement is correct ?
A. IeTTT g geeft 9 IgTer IR 3RAd. [Mass of body is equal on Earth and Moon]

B.ugTeIfd aoi gedft g FgTar ART 3R, [Weight of body is equal on Earth and Moon.]
1.%h A [OnlyA] 2.%h B [OnlyB] 3.A3M0T BSlela! [BothA&B] 4. T ATE [ None of the above]
RgTefterdehl piorel Afger jmeft amg ?

Which of the following is vector quantity ?

A. dT [Velocity] B.a¥JAM [Mass] C.da [Time]

1.%h A JTOTB[OnlyA&B] 2.A,B,C[A,B,C] 3. BhA [OnlyA] 4.%h A 3TTOT C [Only A& C]
STEREIV UGl e gebrelt Siiel STl

Find incorrect pair regarding food preservation method.
1. ATfUI3M — hlee-19rd [Malathion - Insecticide ]

2. &g fapor - fooflas [X-ray - Irradiation ]

3. AR — IR GRRED [ Sugar - Chemical preservative]

4. ST BITAISS — YIIHRUT [Aluminium phosphide - Smoking]
@'I?ﬁ?fafﬁ DIV dId] €XT6€X 3:”%")

Which of the following statementis correct ?

A. U191 3ot RIS Ioid SUTARUITT TehTeRILATUT 2 SSTENUT 37Te.

A. Photosynthesis is an example of conversion of light merge into chemical energy .

B. MR  Iofd UehTeT Sofd SUICRUIT theldh § JSTERUT 3TTR.
B. Firework is an example of conversion of chemical energy into light energy.
1.% A [OnlyA] 2.9t B [OnlyB] 3.AS3MfOT BEFaIa! [BothA&B] 4. 3T ATE [ None of the above]

WlofieTdeh! Pl TehTEIATU IS 3MTE 2

Which of the following is by product of photosynthesis process ?
1. qroft [Water] 2. BTSN TSS [Carbon dioxide] 3. H‘I’&@Tﬂ:{ [Nitrogen] 4. CIGRSINE] [Oxygen]

o) I I, STTETSTRT 9 — ———— ——— .
Speed of sound -------------- with increase in density of air.

1. aTear [Increase] 2.4t g [Decreases]
3. fRR &l [ Remains constant] 4. 7Y Yl pIvrdEl ATETL [None of the above]
0T g g9 ATYH 4°c a9 0°C PN ————————— _

When temperature of water and air changed from 4°c to 0°c then----------- .
A GO ST dHT Eﬁ [ Density of water decreases |

B.ga &9 aTed. [ Density of airincreases |
1.%h A [OnlyA] 2.%th B [OnlyB] 3.A3MfT BSIelal [BothA&B] 4. aTdeh! ATl [None of the above]
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U.23  WIGliclih! HIv aovdc e HIeHe 3Ted ?
Which of the following plant have tap root system?
1.7 [Wheat] 2.5aRT [Jowar] 3.9h1 [Corn] 4.W[Groundnut]

T.24 Tl DIVTRIT JMTghelid Te) U1 31TR ?

Which of the following figure is of simple leaf ?

T.25 SRR SIS! STesl.
Find correct pair of the following.

1. §ICTCT — H [Potato - Root] 2.7ToR - @IS [carrot-Stem]

3. Pig- @IS [Onion - Stem] 4. dlc -ars [Beet - Stem]
U.26 3ciied g ——————————- 6 I g HATet AT,

Recently multiple death happened in China due to ------------- disease.

1. ®RIMT [Coronal] 2.99RT [SARS]  3.98u¢] [ Birdflue] 4. 3SR [ Diabetes]
T.27 PSLVATHA BiH-————-—— 3

Full form of PSLV is -------------

1. Polar Satellite launch vehicle 2. Primary Satellite launch vehicle]

3. Prime Satellite launch vehicle 4. Polaroid Satellite launch vehicle
7.28 “5G"@AS ————————- oft frrEia amme

“5G” termis associated with------------- )
1. A1eTSet [Mobile] 2. €. [Television]  3.3WE [Satellite] 4. 3TU[SSI [Nuclear energy]

¥.29 ST IhaH foad ——————- AT HTSIRT T ST,
‘World Blood Donation Day’ is celebrated on -------------- .
1. 1 f&4eR [1st December] 2.7 U [7th April]
3. 1457 [14th June] 4. 557 [5th June]
¥.30 HERIFICIC JIEETS QIR I TN == ————————— Tefiet HRINITST UGHAT REBRM TRIATATT 31Tt
Rahibai popare from maharashtra recently has been awarded with “Padmashri” for her work in --------
field.
1. o} Stafafderar [Agricultural Biodiversity] 2. deIhi [Medical]
3. A1 [Literature] 4. e [Art]
ForQ.31&32

AR THTCTehcl et Gaiel FReT eNeT. Complet the number series
T.31 2. 10,30, 68, --mmmmee

1.98 2.81 3.130 4.126
.32 5,6,11,17,28----—----

1.45 2.35 3.40 4.58
ForQ.33&34

31eRTeThd ge YUK US e,

Completthe number series.
9.33 AZ,CX,FU,--memmmm-

LIT 2.KP 3.JQ 4.1P




7.34  A,D,| P 3. -7
.Y 3.T 4.V
q. 35 Wmﬁagwawﬁsmwasﬁgﬁzsmwsﬂw R e i ugput faemeff ot 2

Raghav ranked 8" from the top and 28" from the bottom in a class, How many students are there in the

class?
1.36 2.40 3.35 4.50

U.36 ol Goawdiel Gl fSPhIomIRIT IRel 14 fob. Y. Frerd. FaR 6 fob.#Y. Sfamier arerd g dm 6 ..
et et TR goard e foemomarg <ff Rt sicRTaR a2 2

Rutuja walks 14 k.m. towards north. then she walks 6 k.m. towards south. then she walks 6 k.m.
towards east. How faris she from the starting point?

1.6 . H. [6k.m.] 2.8fp.H [8k.m] 3.10 A [10k.m ] 4.26 5. H1. [26 k.m.]
ForQ. 37 & 38
RgTefiet gerTder Repm=ar STt 1w 3jes aneT.
Find the missing number in each of the following question.
9.37 2 [47]17
59(11] ?
2314115 | 4 49 2. 37 3. 31 4. 29
a. 38 17]11]19
12[ 216
25]419 15 2.7 3. 44 4. 13

.39 ﬁéwawﬁaﬁﬁmﬁrw%?

How many triangles are there in the given figure?

1.8 2.10

3.11 4.12
T.40 RUTHLESS 3T 2TeqTa uIehH HISUN dhatt ST, TR BIVTIT TeaTdiel e 3R HIvrd 2

Ifthe letters of RUTHLESS are arranged alphabetically then which letter would be the last letter?
1.U 2.T 3.S 4.E

ForQ.41&42
T TRATHE HeAThci I STReNCH e HfrT el fSie o garfelt ST aieghelt Hefd e e,

Find out the mirrorimage of each of the following question figure from the given alternatives .

o B
N 8 4d B

753
Gl Ae3 €cY| |\c€

9.42

—~
()]
~



.43 Qlellet 3Thd M [IRIE FepRa shH ITE i 9 SIeegs] IR =gredT STRIT HIvTT JAepeiT

?ﬁéa d e ? Inthe given figures there is a specific order. Observe the order and find out the figure to
replace the question mark.

NP
ENT T

T. 44 UapT ATohfcren TS
Inacode language

SUN = GUN =A% PEN = 7w OA
TR I 9T PUNE 4T foTgret ?

Then how will you write PUNE?
. M YO 2. ACvwwO 3. A0 4 OymEA
U.45  AHTe! 10 A 10 e aeameTie asemTer a fifedter ard fasdt siemar B gige ?

Whatis the angle between the hour hand and minute hand of a clock at 10:10 am?

1.115° 2.120° 3.100° 4.110°

T.46  UeT Ajdhciies TSI CHENAI & 49615210 9168 3RTT folfeedT aR, T W¥a SANGLI & 9168 T ferfgan
Ut ?
In a code language the word CHENAI is coded as 49615210 then what is the code for the word
SANGLI?
1.2021581310 2.202147129 3.201158139 4.202148128

ForQ.47to49
XTetleT STTdrelt JTRINAT d faaReted nedTd SR forr.
Study the venn diagram given below and answer each of the following.
Tg1 foum=an eaeh

Person who take tea

10
Pich! o= @RhY
20/ 17 \1& 30 / 40 O Person who take coffee
20
20 Y

NS L1 peion wib tane milk
T.47  fohclt <hl g1 @ qU U AT Sithi U A8 ?
How many persons who take tea and milk but not coffee?
1.20 2.17 3. 25 4. 15
.48 fopcll chl Tr@T a ichl fUcTel AT gy O Aréla 2
How many persons are there who take both tea and coffee but not milk?
1.22 2.17 3.7 4.20
9.49  fhcit cohl theh dith! U ?
How many persons are there who takes only coffee?
1.45 2.90 3.52 4.40
T.50 SR 29/02/2020 ST AMTR 3RYA TR 28/02/2021 ASHT DIV IR 3 ?
There was Saturday on 29 february 2020 then what day will be on 28 February 2021?
1. TMaR [Saturday] 2.3fFER [Sunday] 3. ghaR [Friday] 4. AR [Monday]

25
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(39T weUfAhd 50 UeT ™ (OMR Answersheet) SR Ufaidhd U2 SHidp 1 d 50 Rfda I Aicdrdid. )
(a1 meTuferel SR T (Answer Key) 8/Y4 a1 www.drevramanexam.com I7 JeRISCaR SUTeY glacl)
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